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RTIA 272 SRR MNA0 - They1 assumed; what does the word
7317 in the 71w»n mean? — A wall!

Overview

There are two opinions in our X 3, how to interpret the word 7X°r» in our
mwn, and subsequently whether pri 7°nw 73°87 2177 or not. Each of these
opinions is introduced with the term 'm720'. The term 'm120', generally
refers to an opinion which is originally introduced, only to be refuted later.
We do not find however that either of these opinions is refuted. Why
therefore does the X i introduce them with the term 'm1720'7 mdoin will
offer two interpretations.

Mmoo asks:

RP 719297 23 Y X — even though that this assumption (that 7¥°nn refers to
a wall) remains at the conclusion of the xx10. Those who maintained that >X»
X712 7%, were not refuted, nevertheless —

7920 RP — the X773 refers to their opinion as ‘they assumed’, inferring that
it is merely a hypothetical assumption; and subsequently it will be reversed. This
however is not so! The assumption was never completely refuted or retracted. Why does
the X773 use the term 'm1720'?

N1DOIN answers:
PP IR R I 99% — since this opinion (that 7¥°m means XT13) is not
the main opinion. We do not follow this opinion, which maintains X7 7%n2 and
therefore P17 W K7 X1 Py

1797 283790 nm» — on account of the refutation(s) mentioned later in the
X3, Even though each refutation has been deflected and explained to satisfy this opinion
that pra maw X2 R P, however -

MIWNT ONT XY XYY T — the answers given were merely deflections,
and not satisfying answers.

1729577 21w 1w — and the final ruling is like the second opinion that X prn
P TNY.

an w2 pow 19 — and indeed the n''1 rules that pra nw "o, The X
therefore refers to this first W% as 7120 to indicate that 79%7% we do not follow their
opinion, but rather the opinion that pri 7°nw 3",

mooIn anticipates a follow-up question: The reason the X 13 uses the term 'M720' for the
first MY is because the 71577 does not follow that opinion. Why is it then that the &3

"The students, who were studying our 711wn, assumed.
2 See w"w1 who emends the text to read 579", in the plural.
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uses the same term 'MN20' to introduce the second *1w? That 7Y is according to the
79%7! Moo responds:

7128 NIwYH 9RT72 vPaT 23K — and since he uses the term '777m22', by this (the
first) opinion (to indicate that we do not follow this 1?), therefore —

RN RIwoha a1 upl — he uses it as well by the other (second and valid)
opinion.

mooIn offers another approach:

(%% 77) BOTIT RBP PIB2T PrXS 1939 W W — and furthermore says the
"1 that in the first =9 of 23971 n>on

7192% N2°KR — there is the expression 'm920' —

277 P90 IRP 118257 23 Y nX — even though that ultimately that opinion

remained and was accepted as such. Therefore here too in our X3, we may
maintain that either or both of the 'mn20' are valid opinions®.

Summary
The X3 uses the term 'm0 for the first W7 to indicate that we do not

follow this opinion 79%7%. The refutations to this opinion were not
satisfactorily answered. However once we used the term 'm720' to introduce
one opinion we used it as well to introduce the other opinion.

Another approach is that '1720' can refer to an acceptable opinion that is not
subsequently refuted or retracted.

Thinking it over
1. What are four ways that the term 'mM720' may be used?

2. How can we interpret 'm120' to indicate that this opinion does not follow
the 17957, when the term 'M920' is used here in both opinions?

? See ™21 711720 21 R"Y' R,3 AT R
* It would seem that according to the *"9, the 719971 is not necessarily that pri 77w 1"r7.
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